ET MONEY

Welcome To... ET MONEY

Life Revolution



ABOUT US



ET Money is Slovenia Base trading education company that specializes in providing expert guidance and management of digital assets for individuals and institutions. Our team of experienced professionals offers a variety of services, including portfolio management, trading, and research to help clients achieve their investment goals. We track and analyze the crypto market to make strategic trades and maximize returns. Our goal is to help clients navigate the rapidly evolving crypto landscape and achieve their financial goals.

The ET Money Team.....



MISSION & VISION

Our mission at ET Money is to empower individuals and institutions to navigate the rapidly evolving world of cryptocurrency investments by providing expert guidance and management of digital assets. We strive to make the process of investing in crypto simple and accessible for all, while maximizing returns for our clients.

Our vision is to be the leading provider of cryptocurrency investment services, trusted by individuals and institutions around the world. We aim to be at the forefront of innovation in the crypto market, constantly seeking new and better ways to help our clients achieve their financial goals. We will work tirelessly to build and maintain a reputation as a reliable, transparent and professional company that is dedicated to the success of our clients..



FOUNDER MESSAGE



FOUNDER:- Mr. Zoran Biberovic

Dear trading enthusiasts,

I am delighted to welcome you to ET Money, a dynamic trading education & trading company that is committed to bringing our clients the best possible returns on their investments. Our team is comprised of some of the most knowledgeable and experienced professionals in the industry, who are dedicated to staying ahead of the curve when it comes to emerging trends and technologies.

At ET Money, we believe that crypto presents a unique opportunity for trading learners to diversify their portfolios and potentially achieve significant gains. However, we also understand that this market can be volatile and unpredictable, which is why we take a measured and prudent approach to trading.

Thank you for considering ET Money as your partner in crypto trading. We look forward to the opportunity to work with you and help you achieve your financial goals.





1. ROI INCOME

2. DIRECT INCOME

3. LEVEL INCOME

4. REWARD INCOME

5. FRENCHISE INCOME



MINIMUM JOINING



YOU CAN JOIN WITH MINIMUM 100 Rs.







S.NO.	AMOUNT	DAILY ROI	DURATION	TOTAL
1	100	20	20 Days	400
2	300	60	20 Days	1200
3	1000	200	20 Days	4000
4	2500	500	20 Days	10000
5	5000	1000	20 Days	20000
6	10000	2000	20 Days	40000
7	20000	4000	20 Days	80000





DIRECT INCOME





LEVEL INCOME

LEVEL	INCOME	DIRECT	DAYS
1 st Level	20%		
2 nd Level	5%	2 Direct	Till 20 days,
3 rd Level	3%	4 Direct	Till 20 days,
4 th Level	2%	6 Direct	Till 10 days,
5 th Level	1%	8 Direct	Till 10 days,
6 th To 10 th Level	0.5%	10 Direct	One Time
10 th To 20 th Level	0.4%	10 Direct	One time

ET MONEY

REWARD INCOME

10 direct principal amount can be withdrawal 20 direct principal amount + more 50% of principal amount can be withdrawal 50% of principal amount

	1
₹1 Lakh	₹1
₹2 Lakh	₹2
₹5 Lakh	₹7



LOK Instant (within 24 hours)

25K Instant (within 24 hours)

70K Instant (within 24 hours)

FRENCHISE OFFER

FUND	INCOME
50k fund purchases	₹55K
1Lakh fund purchases	₹1,15,000
2 Lakh fund purchases	₹2,40,000



TERMS & CONDITIONS

√₹100 minimum withdrawal ✓ 10:1 Withdrawal request rule ✓ 1:3 Transfer bound $\sqrt{1}$ Mobile = 10 ID √ * **No Holiday** ✓ Withdrawal Timing is 10am to 1pmWithdrawal transfer timing 01pm to 3pm



for your support and trust. Wishing you success ahead.

ETMONEY Greatful